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- Name the causative organism of:
1) Amoeba dysentery L ) ‘ : ‘ (1mk)
ii) Tuberculcsis. _ - . o  (1mk)

I two drops £ 0.1% Ascomrbi‘;‘: acid decolorizes ﬁml of DCPIP, calculate the
concentratior of ascorbic acid in a fruit juice that requires 8 drops to decolorize Zml of
DCPIP. (2mks)y : ’

Explain why plants do not require specialized excretory organs. - {2mks)

State the func‘fi'oﬁ(s) 0f~3runné1fs gla.nd in mmnmaiianﬁlvimentary canal. (1mk)




6. Inarexperiment, the concentratior. of ions in the cell sap of reeds growing in a swampy
area and the water in the swamp were determined. The data below was obtained when the water
temperature was 18°. Study it and answer the questions that follow:

T A . S A 7
| Cellsap |50 11 .j101 13
Swamp water {12 30 1102 S 1067

- “:Name the process by »whic::‘h‘;'_xpmk‘:e‘;}:of the following ions by the reeds occurs, 2mks)
- ClMions e e :

. g2 ons . -

What effect would increased temperature to 280¢ have on the uptake </ sodium ions?
Explain your answer. LT (2imks)

7., Explain how age detcrmines energy.-réequirements. in humans. - {1Imk)

-8 g:;)'Dif:lr‘éi";enﬁate between pyramid of number and pyramid of biomass. - (Imk)

- A-b)'Bxpiain the shape of the ézommon pyramid of nuinbers. - s (1mk)




5. Auxins ate growth subslunce.
a) Namsg the site of its production. I - (tmk)

b)  State two practical applications of Gibberellins - = . (2mks)

10. aj Chlamydomaonas moves io the direstion of optimum light intensity..
i) Wame the response fullv. o C (1ml)
1) What is the significance of the response named in (i) above? | (1mk): ~
b). Explain the response of a housefly maggotto the same stimulus? ~ * (1mk) ¢
—
11.  What is meant by the following terms? A - (2mks)
i) Epigynous flower.
ii) Staminate flower.




. K ) EP; “Qr”‘ 4 S
he piece aﬁer the 20 mifiutes

* :1'  :w‘y; 'f1 | __  ,   '@m@ff

’ -b), 'Wh-at ',vif‘ould become of a red blood ceil if placed in the solution for 20 ‘minutes‘? (1mk) .

L4 tare the function of each of the Lollowmg durmg gqscous exchange itvinsects: (2mks)

: »»_?;a) ngs of cancle hnmg the tmg,hcae

: f? b) Fluid in the fine ’t;aéheol@. ‘

15', o a) prlam why urine of ahealthy person lacks thc followmg: . E - (2mks)

o 1) Glucose




R —

16.-

i)Fibrinogea. __~ - .

by Uune sample froma s1ck person was found to contain some protems

D) Idenufy 1he dlsease the person was sufFenng from. : o (Imks)
ii) What causes the diseasé named in b(i) above? a 3 (1mk)

The graph betow shows oxygen uptake during and afier-a period of exercise.




b) :Br_iéﬂy eXplain why it 18 nd"t;adbv'isévblé' for pe‘dple ;to'aScsend a véry high mountain in one

" The diagram below is an eléctron micrograph part.of an animai cell, L




) Name the pal'fs labeled: | : v " (2mks)-

X

Y

if) State the function of Z. ¢+ | O (mk)

20.  What is phyllotaxis as used jn classification 7~ - ° S L (imk

21, a) What are aralogous str-uctureé?; 5  o o ) © (1mk) K

b) Nare the type of evo_l‘ution..islsﬁppoﬁédxbjﬁ:hb_ﬁiﬂl@ g_bu_s:_.;_s_‘t_ruotures?- e o (lmk)

22.  The followmg dmgmm shows fuszbn of a normal temale gamete with a malc gametc that o
~ has an extra sex chromosome “ : o : :

. Gamete in malc‘ : - _anﬁal'fgalnetc in female

XXy ‘Male

- a) Name the type of mutation that Ied to formatlon of the abnormal male gamete ('I mk)

1

b) What name is given to the males with genotype XXY ? . (lmk)




23. lee two chfferences between epl gea[ and hypogeal germmanon e v (2mks)

Eplgedl - :" — | . Hypo;zeal

25T h.e diagram below represents-the ,apiealgrdwm in a root of a dicotytedanous plant.

. a)What Kappeiis to the cellsal zoneB? © .~ S amy

b) quc a g1owth substance that 1s produced at Zone A that brlngs aboul change m

;zoneB‘ o TR AP, . » ‘
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26. A bone obtained from a certain mammal is represented by the diagram below.

a) 1) Tdemify the bone. v L ;  _ - . . (1 mk)
i) Name the parts labeled:- o C (2mks)
T___ . : . o
R

b) What structure articulates with pd.liQ : o SR
. : -, | LD
27.  The figure below shows an organism a student observed from a drop of pond water by use

of a pfIcroscone.




b) Using an evidénce from (he diay

i) The mode of nutrition for this organism. -~~~ -~ (1mk)

(1 nﬂ_{) ,

de of locomotion,

. ~ Key: -
O Normal female

C) Carrier female

i .'« . ] Nommatmate
il ’NJ Haerﬁophiliac'male

S .;,é:[)fWritci thé"gen@types of .th;e‘ ‘iﬁdividhais: "_' s - | ' (3ruks)

by T“ the family member nunibered 3 mamcd a homozyg,ous normal ‘woman, what is the
o fpl‘()bablllty of then gcttmg a haemophlhac sdn" SR . (Imk)




29, In ancxpenmem the foﬂc}wixlg set up was prépared in the lab.
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Fleshly picked leaf of Bougamwilea was 5u<;pended ina boxhng tube A that was covered
with aluminum foil. The mouth of the boiling tube is covered as shown. The same
procedure is repeated using a boiled leaf of the same species and set as tgst tube B.

a f) State the expected observations after.5 hours. _ . (2mks)
A_ L
b) Account for i_'he’ob'sel‘vatit_)'n inai) above, o N I ©(2mks)




30, Study the diagram below.

! Fraif Q
if S (1mk)
hat is the mode of dispersal for fruit Q? =~ . ' (1 mk)
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